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(1) You have to obey the rules of the game.
{2) What’s the composition of this chemical? .

(3) She is on the edge of breakdown.
. (4) Don’t judge too quickly! You may make a mistake.
(5) The teacher excused her from doing the homework.
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Briefly answer the following questions: (5% each)
- 1. What does the abbreviated word “SoC” used in.embedded system stands for?

2. What is the value of the 2’s complement of (102)10 in a 16 bits computer systcm" Please
represent it in Hexadecimal format. ’

3. What is the output in the following program aﬁer it has been executed"
int fint *x) { :
return(int)--x; .
/
int g(int x) {
return (int)x--;

J
main() {
inta=35;
g(f(&a));
- printf(“%d\n”, a);
/

4. Consider a simple paging system with the following parameters: 2°2 bytes of physical
memory; page size of 2'? bytes; 2'¢ pages of logical address space. How many bits in the
physical address specify the memory frame?

5. How many edges are there in an undirectéd complete graph with l'Onvertices?

6. Which layer in the ISO’s OSI network reference model is responsible for packé’t routing?

7. What is the worst case time-complexity for the heap sort?
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